.of
3.No. |Category Description UoM ::n:
1|Casing CASING 20" LBO 169# TSH ER mtrs 5,376
2|Casing CASING 13.375" T 95-1 728 TSH BLUE mtrs 10,638
3| Casing CASING 9.625" T-95 PSL2 53.5# JFEBEAR mtrs 13,570
4|Casing CASING 7" TN 110 SS 324 TSH BLUE mitrs 4,256
5|Casing TUBING 4.5" LBO 11.6# TSH BLUE mtrs 4,137
6|Casing Casing 26" X65Q 202.444 X15C mirs 232
7|Casing Casing 11.75" T95 TYPE1 60# TSH W513 mitrs 8,048
B|Casing CASING 5" C110 18# TSH WEDGE 513 mirs 1,687
13-3/8" DAVIS HINGED STOP COLLAR W/ BOLT
9|Casing Accessories |ASSEMBLY PC 64
13-3/8" DAVIS HINGED STOP COLLAR W/ BOLT
10|Casing Accessories |ASSEMBLY PC 55
13-3/8" DAVIS HINGED STOP COLLAR W/ BOLT
11|Casing Accessories |ASSEMBLY PC 46
13-3/8" TENARIS BLUE SC DAVIS FLOAT SHOE, TYPE
500-PVTS, TO BE RUN ON 72 PPF GRADE T-95-1
CASING, WITH 12.250" DRIFT (PDC DRILLABLE),
12|Casing Accessories |WITH THREAD PROTECTORS PC i
13-3/8" TENARIS BLUE SC DAVIS M&F FLOAT
COLLAR, TYPE 700-LAP/N-PVTS, WITH LOCK DOWN
ANTI ROTATION INSERT, TO BE RUN ON 72 PPF
GRADE T-95-1 CASING, WITH 12.250" DRIFT (PDC
13|Casing Accessories [DRILLABLE), WITH THREAD PROTECTORS PC 1
13-3/8" TENARIS ER DAVIS FLOAT SHOE, TYPE 500-
PVTS, TO BE RUN ON 72 PPF GRADE T-95-1
CASING, WITH 12.250" DRIFT (PDC DRILLABLE),
14 Casin;iccmories WITH THREAD PROTECTORS PC 1
13-3/8" TENARIS ER DAVIS M&F FLOAT COLLAR,
TYPE 700-LAP-/N-PVTS W/LOCK DOWN ANTI
ROTATION INSERT TO BE RUN ON 724 GRADE T-95-
1 CASING W/12.250" DRIFT (DPC DRILLABLE)
15 CnlnLAnccssoﬂes W/THREAD PROTECTORS PC 1
16{Casing Accessories |7 solid STOP COLLAR slip on set screw type PC 150
=5 8.2507" DAVIS SLIP ON STOP COLLAR W/ SET
17|Casing Accessories |SCREWS™ OD PC 220
| 8 2509-5/8" DAVIS HINGED STOP COLLAR W/BOLT
18| Casing Accessories ASSEMBLY" OD PC 200
Lufc-qmm 9-5/8" Hinged spiral nail stop collar PC 320




No. of
units

UoM

S.No. |Category Description

9-5/8" HYDRIL 523 DAVIS ME&F FLOAT COLLAR,
TYPE 700-LAP/N-PVTS W/LOCK DOWN ANTI
ROTATION INSERT W/8.50" DRIFT TO BE RUN ON
53.50# GRADE L-80 CASING

9.5/8" HYDRIL 523 DAVIS M&F FLOAT COLLAR,
TYPE 700-LAP/N-PVTS W/LOCK DOWN ANTI
ROTATION INSERT W/8.50" DRIFT TO BE RUN ON
53.50# GRADE L-80 CASING WITH THREAD

21 Casing Accessories |PROTECTORS

20|Casing Accessories

9.5/8" M&F FLOAT COLLAR WITH LOCK DOWN
ANTI-ROTATION INSERT, NEW STYLE, COLOR CODE

22|Casing Accessories [GREEN, TO BE RUN ON SS-110 CASING

9-5/8" TENARIS 523 DAVIS FLOAT SHOE, TYPE 500-
PVTS, TO BE RUN ON 53.50 PPF GRADE T-95-1
CASING, WITH 8.50" DRIFT, WITH-8.50" DRIFT (PDC
DRILLABLE), WITH THREAD PROTECTORS

NW-5 BOW13-3/8" DAVIS HINGED STOP COLLAR
24|Casing Accessories |W/BOLT ASSEMBLY
13-3/8" TENARIS ER DAVIS M&F SHUT OFF BAFFLE
COLLAR, TYPE 701-S8, WITH 7.50" ID SHUT OFF
BAFFLE (FOR 778-100-3S), TO BE RUN ON 72 PPF

23|Casing Accessories

162

A

25|Casing Accessories [GRADE TN110SS CASING PC
= 4-1/2" DAVIS SLIP ON STOP COLLAR W/SET
26)Casing Accessories SCREWS PC 55
7", 328, TSH-BLUE THD, M&F FLOAT COLLAR TYPE
27|Casing Accessories |700-LAPN-PVTS, WITH PC
5 PROTECTORS7" 32# TSH-BLUE, M&F FLOAT
28|Casing Accessories |COLLAR WITH LOCK DOWN ANTI ROTATION PC
Single Valve Float Collar 7 VAGT box x pin 1-95
29|Casing Accessories [PDC drillable PC
- Single Valve Orifice Float Collar 7° VAGT Pin x Box,
iokcmiw&s 7-95 PDC drillable PC
13-3/8" DAVIS HINGED BOW SPRING
3z,cmnlws |CENTRALIZERS FOR 17-1/2" HOLE NW-5 PC
= 13-3/8° DAVIS HINGED NEW RIGID BOW
R W/17.50" OPEN HOLE W/17.250" OD
32 PC |
13-3/8" DAVIS HINGED NEW RIGID BOW
3 W/ 17.50" OPEN PC
' 13-3/8° HINGED NON-WELD BOW SPRING i 8 ‘
PC




/T- No. of
S No. |Category Description VoM wnity
11 /8 Minged Mon wetded poul e bow
15| Centratizen centrahres ~ "
77 DAVIS SLIP ON SPIRAL WTLDED D TOTD POS
G| Cemtralizen CENTRALIZIR WiTH " LA
95787 DAVES HINGED BOW SPRING CENTRALIZERS
17{Conteatizers FOR 12 1/4" HOLE NW-8 s -
5787 SUIP ON CLOSE TOLERANCE CENTRALIZIN
FOR 12-1/4° BIT, RUNNING THRU 11-1/4" 508
IR Centralizern CASING W/APECIAL DRUrY P 150
00 (1 BOW)9-5/8" HINGED RIGID BOW
19 |Centralizers CENTRALIZER FOR 12-1/4" HOLE W/12 125" OD (. "
41727 SUIP ON DAVIS ROTO POS CENTRALIZER FON
A0|Centralizen 6" HOLE (W/5 750" OD) PC 5
A A1[Coupling Coupling 4 5 TN-110 55 13 54 TSH Blue PC 1
42|Coupling Coupling 4.5 TN-110 55 13.58 TSH Blue PC 4
43[Flexipipe SOLUFORCE PIPE AND FITTINGS M A.000
THREAD PROTECTORS13-3/8" TENARIS ER DAVIS
MEF SHUT OFF BAFFLE COLLAR, TYPE 701-58,
WITH 7.50% 1D SHUT OFF BAFFLE (FOR 778-100-35),
i 44|Miscellaneous TO BE RUN ON 72 PPF PC i
crossover 3.500 9.20 1sh blue x 3500 9.30 eue
45|0thers blue box-pin L-80 PC 3
| 46/Others Drill pipe dart 5™ Rubber PC 1
' 13-3/8" 1ST STAGE SHUT OFF PLUG FOR 778-100-
a7[Plugs 35, WITH 5.50" OD NOSE PC b
, 13-3/8" 1ST STAGE SHUT OFF PLUG FOR 778-100-
48 Pl_ug 35, WITH 7.750" OD NOSE PC S
13-3/8" TOP PLUG WITH LOCK DOWN ANTI
49 Plu!s ROTATION INSERT PC |
7" LOCK DOWN ANTI-ROTATING TOP PLUG, NEW
50Plugs STYLE, COLOR CODE GREEN PC 4
51| Plugs Plug set 4-1/2" PC 2
52|Plugs PLUG TOP 4.500 NR PUR PC 1
| 53[Plugs PLUG TOP 5.000 NR PUR PC 1
m PLUG TOP 77 PC 1
Pup Joint Pup joint 13 3/8" 195 728 TER 10 PC 5
Pup Joim Pup joint 13 3/8" 195 728 TSH Blue 10 PC 4
Pup Joint 13 3/8" TN1105S 720 TER 10° PC o
Pup-joint 13 3/8" TSH ER T95 720 PC 3
Perforated Pup, 2 7/8-6.4 VAMTOP, 123 inch, 180 PC 2
Pup Joint 13.375" T95 TYPE] 720 TSH ER 101 PC 12
p joint 2875 L-80 ¥ EU ST PC 1
Pup Joint 2.875 L-80 # TSH Blue 107 ¢ 3




* - ;tm
O § [ _pr—
M'P-.,r--
A4 1 Py e
8% ey

‘-’-—-:l 2% FE. 1 3.
""_l.' ' vu g 8N

A e (W

i“-._.;.“-
B4 a8 Vv e (IR

"-pp-rl"‘.

X-OVER 2.375 EU Pin X 2.875 EU Pin

R
71 .:M—-:ua'.-.u'rin-o_n_ |- ~ | .
—mlap i __;"-pf_nnll"‘!!ﬁlnl_'b‘l:-'tﬁ el "l
PP r— [Pup powt S 875 1 80 4 48 T e WA -~ 2l
701 P s [Fop s 1 R75° A0 6 4% T3t AN O x 3 =4
E’lﬁ-p-—m Fup Jownt ) B75 100 4 48 T LT A e 3
T 1Pup bt Pug gt 1 575 180 6 4% TS Bhun 8 "~ -
1 Pup ot Pug joems ] B75 |40 A A8 TN Bhee O ~ ﬁtf .
T4[Pup ot Pup Jeiet 207 €35 1699 TH4 IR 10K ) ¥
75 [ Pup sommt Pup jowt 15 L 80 § Ve Top 100 " .
T6{Pup soime Pup jowt 1.5 180 # Varm Tap 7N " .
17{Pup sotnt Pup joint 1.5 (80 ¥ Vam Top SR " !
7R[Pup oim Pup joint 1.5 L840 # Vam Top A [ :
79| Pup Joint [Pup joint 1.5 L-80 9.29 WEBEAR 100 t x S
Pup josm Pup joint 1.5 180 9 29 FTREAR Ih A 1.
811Pup loim Pup joint 3.5 180 908 FTRLAR I | 10
82[Pup Joim Pup jowmt 3.5 180 920 FEBEAR R pC :
83 [Pup Joint Pup Joint 4.5° T9S TYPEL 12 62 TSH BLUE 100 P 2]
B4|Pup Joim Pup Jont .57 T9S TYPEL 12 68 TSH BLUE I8 e u
85[Pup Joint Pup Jownt 4.5° T9S TYPE] 12 64 TSH BLUE Sh PC ®
B6[Pup Joimt Pup josmt 4.5 TH-110 S5 13 52 TS Blve 100 PC ¢
87|Pup Joint Pup joint 45 TH-110 55 11 54 TSH Blue 100 PC s
B8|Pup Joim Pup joint 7° THS TYPEL 128 TSH BLUT 100 PC i
89|Pup Joim Pup Joist 77 T9S TYPLL 128 TSH BLUE 4R PC s
90|Pup Joint Pup Jowt 7 T9S TYPLL 328 TSH BLUE Sh PC 3
PUP JOINT 7° TENARSS BLUE BOX X PIN 32, §F T,
110 pC 3
Pup Joint 9 6257 T9S TYPEL 53 5% TSH BLUE 100 PC 20
nmsrmrnn 12 958 TSH PH6 mirs 52
TUBING 2 575" L-80 1648 TSH BLUTE miry
GATE VALVE 2-1/16" 10M MH-ML PC 7
GATE VALVE 3- 5M DD-NL PC 9
crossover 3.500 13.30 tsh blue « 2875 6.40 tsh
blue box-pin L-80 PC 4
crossover 3.500 13.30 tsh blue x 3.500 9.20 tsh
blue L-80 PC
crossover 3.500 9. x 2875 6.40 tsh blue
box-pin L-80 PC
_ PC
PC

X-over 2.875 BTS-6 Pin X 3.5 BTS-6 Pin 16"

LLL |




S.No. |Category Description
102 | X-over X-over 3.5PH-6 (BTS-6)PinX3SVAGTPIn2ft C |
| 103|X-over x-over L-80 2.87S EU Pin X 2.875 TSH Blue Pin PC ‘ 3
| X-over L-80 2.875 TSH Blue Pin X 2.875 Vam Top
104 | X-over Box PC lJ
105 | X-over X-over L-B03.SEUPInX 3.5 IF Box PC 3
106|X-over X-over L-80 3.5 New Vam Pin X 3.5 IF Box PpC ‘ﬂﬁ
107 |X-over X-over L-80 3.5 New Vam Pin X 3.5 Vam Top Pin pC 14
108 |X-over X-over L-80 3.5 TSH Blue Pin X 3.5 IF Box PC 3
109 | X-over X-over L-80 3.5 TSH Blue Pin X 3.5 Vam Top Box PC
110|X-over 'WASHOVER SHOE 3 1/2" 94/70 1500 PC
111|X-over x-over 4.5 Vam Top Pin X 4.5 15H Blue Box PC













